PROVISIONAL ANSWER KEY

Question 82/2023/0L

Paper Code:

Category 078/2021

Code:

Exam: Computer Operator (Degree Level Main Examination

2022)
Date of Test 14-06-2023
Department Kerala Stae Poultry Development Corporation Ltd
Language: Malayalam

Questionl:-Consider the following events of second world war;
i. Yalta Conference

ii. Teheran Meeting

iii. Casablanca Conference

iv. Dumbarton Oaks Conference

Select the correct chronological order of events from the codes given below :
@600 GRIDERNNIQRLOMIOMO MO MVEAIEBRUZ alBlNEMIERS: :

I @omdgo muemsMo

ii. ©5a000M I

iii. @omuenoees ruemsmo

IV. cWwosnidBsend 608 rueemsmo

969 ®ATIBIEBAN EHIRBBalE@IUla] LAIWIW BILIGRD: ODMOOETNGERD; :

Az-iii, i, v,
i, i, iv, i

B:-ii, iv, iii, i
i, iv, iii, i

C:-iv, iii, i, i
iv, iii, i, ii

D:-i, iv, iii, ii
i, iv, iii, ii

Correct Answer:- Option-A

Question2:-With reference to the reign of Marthanda Varma, consider the following
statements;
i. Marthanda Varma is considered as the founder of Modern Travancore
ii. The famous Thrissur Pooram was instituted during his reign
iii. One of the important acts of Marthanda Varma was Thripadidanam
Which of the above statements is/are correct?
20BOMITMLAUBAQYSS BEEMBILIOOD alBlNETgIEd:I6ME, MIOLOQYM JIRIAUMB:UB al@lWETlaBS: ;
i, @RWME CIGBAl®I&IOMO MAdaIGMIT] BOBEBITTWAIRIEOW
SEMENIEBND
ii. @REZOOBTIHMO REEMEILICINIEM’ @ QBaj@e @RDECE] YD
iii. 20AEmOMLAIBIRYES WOIM BAEBREORIMOET @aSIBoMme
RHEITB A0 (JTRIAUMBSI® @6’ (oal?



A:-i & ii only

i & il @0@o

B:-ii & iii only
i & il 20@o

C:-i &iii only
i & il mo@o

D:-i, ii & iii
i, i &iii

Correct Answer:- Option-C

Question3:-Consider the following statements about the Lahore Session of the
Indian National Congress;
i. Jawaharlal Nehru was elected as the President of the Indian National Congress
ii. This congress decided to celebrate 26 January as "Independence Day" all over
the country
iii. Gandhiji decided to launch the Non-Co-operation Movement
Choose the incorrect option :
EDADYMB MIHEM@S EHITMVWTIOMBO 2106a0@ mcgm@mmoﬂ_f%@g @MYIQAUMBUB al@l6m| R,
I, BAOBRIT HEMaOQ DMK MIAHUETN U@ GMUWMIIOMO @ailawowl]
O@@@G@T@%zﬁ)@rﬂ%
i, mmad 26 eomyomsmig. munmmmyEmace] @reeaalenond D eseMWMY
OIGESIep Y
i, voruiledl aflan®e6M @JMINoMe ERE.EEIM @ilmadaily)
6)@90@) @(T}UQOO.I(T) OIEIN@OISE ST

A:-i &ii only
i & i m0@o

B:-iii only
il 20@eo

C:-i & iii only
i & il @0@o

D:-i, ii & iii
i, il & iii

Correct Answer:- Option-B

Question4:-Which of the following statement is/are correct about the revolt of
18577
(i) According to V.D. Savarkar, revolt of 1857 was the "First War of India's
Independence".
(ii) Bahadur Shah Il was the Mughal emperor during the revolt of 1857
(iii) Doctrine of Lapse was one among the causes of the revolt
(iv) Lord Cornwallis was the Governor General during the revolt
1857-621 #:21001600830l4] ©0690]0QMMAURIGS o@@osm wdl?
() al.all. cvakeed erElusoml@d 1857 eal einal ''snamy@es aamo.
MLIOEDYTVOE. ' @RI
(if) 1857 ®enasoeion guud al@adomlolame enia0G@axo
620D
(iii)  @enaovlendo @:eemeglnrioamosm cawoglm el a1og]



(iv)  @enaisoeiom emmosmndaoalmy g wadepd smosowiacmo

A:-Only (i) and (iv)
(i), (iv) @0@o

B:-(i), (ii) and (iii)
(i), (i), (iii)

C:-Only (iv)
(iv) oo@o

D:-Only (ii) and (iv)
(i), (iv) ao@o

Correct Answer:- Option-B

Question5:-Expand NATO
NATO @es oJdem@alo

A:-North Atlantic Territories Organization
eMad@ @YRINMIE 6SCIgAINY BoBUNOHMETVAUM

B:-North Asian Treaty Organization
EMIBD aRaityB SIFl BIBUSSMETVAHD

C:-Non-Alliance Treaty Organization
BMIENB-BRAIMMY SIFl BIBULOSMETVAUD

D:-North Atlantic Treaty Organization
eMIB@ @RYRIMIE: SIdl BOBULOSMEIVAUD

Correct Answer:- Option-D

Question6:-Which of the following statement is/are correct about European
contributions in Kerala?
(i) Portuguese established printing press in Kerala
(ii) British were the first Europeans to land in Kerala
(iii) First authentic book in Malayalam Grammar was prepared by Hermann Gundert.
(iv) Malabar Manual was published by VanRheede
EHEBOTIOL! QEOIAMB MoRIAIMNGEOBERT]4f MIOLOQYMAURITB nB®I6M RGEIOW®?
(i) coesoIcd 8al0@ 9JUfly @R giSlueoal Mundally
(ii) corsomicd amMlomEle @REEOm QEOIAIMIGIET ENSlayd:0d
(iii) oeIwIs ARH:EEMOBIOEI @RGHOD @RYUIB:GIE: YWMNs QYIOIEVWT
6a0BmM3 WerrRA@o6MY
(iv) oesnod aomiad riledleelyo aomddliol @rerm’

A:-Only (i) and (iv)
(1), (iv) @0@eo
B:-Only (ii) and (iv)

(i), (iv) oo@o

C:-Only (i) and (iii)
(i), (iii) oo@o

D:-Only (ii) and (iii)
(i), (iii) ao@o

Correct Answer:- Option-C



Question7:-Consider the following statements :
1. Tropical cyclones always move from East to West
2. If they cross 20° Latitude they recurve and are more destructive
3. Tropical cyclones originate over warm tropical oceans
Which of the statements given above is/are correct?
@IOPaOQAM (JTVIQUNEHUD al@lNEIERS: :
1. oqyeneuen QJ&?Eﬂﬁ)O(&@:U& af)Galogo HleER MM alSleomIE00g MleERMo
2. @oa 20° @odxcwe &HSMITd @oc OfleNze USQHQ GBSO
QMo BERINYHQo 6.2l
3. 2qyeaaIRI0 2J9ellen00s0d DORAIEMOY Y$BB Doyercnial
mug@EeeRgl@d  amlamosm’
goglod melaldlesm @moamegled agmosm wdl?

A:-1 only
1 oo@eo

B:-3 only
3 20@o

C:-1 and 3 only
1, 3 o@o

D:-1, 2 and 3
1,2, 3

Correct Answer:- Option-D

Question8:-Which one of the following is the antecedent tributary of River
Brahmaputra?
EYa2oJ@0 MAEIYSS P EaldaUBME aR@I6M?

A:-Dhansari
WBMLIE|

B:-Subansiri
ayeniadarl@l

C:-Manas
aMmoay’
D:-Tista
sl
Correct Answer:- Option-B
Question9:-Which Indian city has become the first city in the country to get a
processed steel slag (Industrial Waste) road?

Mo@ly lad apowy (pdewmfloc eaiqy) coow aIElEsaM EIWEO @REY MUERIW] MIGIW Y
MWNBo aROIEM?

A:-Delhi
QW@3a0

B:-Ahmedabad

@RaOINEIMNIOE

C:-Surat

MgOQ



D:-Chennai

6)216)6)(0M
Correct Answer:- Option-C

Question10:-Which of the following characteristics is correct about Troposphere?
(i) Itis the densest atmospheric layer
(ii) The zone separating the troposphere from stratosphere is known as stratopause
(iii) This is the most important layer for all biological activity
(iv) This layer absorbs ultra-violet radiations and shields life on the earth from
intense,
harmful form of energy?
@S98 oMl@AIN MIePajOQMM ALIRIAIMIANEURHMBEIT g @7
(1)  a@Qae MVO@RIL @RME|BHAIEIoNY
(ii)  esoeatomidlem mpoegoaflediad mlm’ eadaidlesm caeuel
MYIERIGAIMY af)MCIBE 5T
(iil) e eemAIYUBGDMEDIM. aBQ0 JWIMBA]S aloglwosloy
(iv) e angl @rrdssaealy alelesmsneg @rUlesms 6.aQe:Q. Glwleal
laem olYo@ld mlame McesHlERH:Ql 6).21QMo

A:-Only (i) & (iii)
(i) & (iii) @0@o

B:-Only (ii) & (iv)
(i), (iv) @o@o

C:-Only (iii) & (iv)
(i), (iv) oo@o

D:-All of the above ((i), (ii), (iii) & (iv))

ea@ojosmmeeo. ((i), (ii), (iii), (iv))
Correct Answer:- Option-A

Questionl1l:-Consider the following statements :
Statement A : Western coastal plains are an example of submerged coastal plain
Statement B : Western coastal plains provide natural conditions for development of
ports
and harbours

Select the correct answer :
@IOPaOQAM (JTNIAUNHUD al@lNEIEBS: :
empoaim A 1 geeslesisesam oilee)euamila’ 930a0EMaeT alSIETImMIOM

@leMLA®AIEERUY
mpoaim B 1 aisleomoom aleruamerssnud @OREIEBEeS QlleaTumalm’

I0RIANB M0 IELEERUE M@IB:M
REIWIW DIQOICEENOIEIN OISt ST

A:-Statement A is correct, B is incorrect
emgoaim A wdlwosm, B emgosmy

B:-Statement B is correct, A is incorrect
mpoaim B wdlwosm, A emqosmy

C:-Both statements are incorrect
(DGTTg @a}gomm&go G)@QOGT‘DU

D:-Both statements are correct and Statement B explains Statement A



@61 (JMRIQAUMB:Bo eI @myoaim B @mpoaim A allwededesm
Correct Answer:- Option-D

Question12:-Which of the following was declared as Wildlife sanctuary on July 3,
20207

269 @MaIad agmosm 2020, menw 3 o amdal ques:oadw]

@auyail gj@?

A:-Kurinjimala Sanctuary
@&Qerailmel rueE: o

B:-Malabar Wildlife Sanctuary

oelenio®@ amiglal cues o

C:-Karimpuzha Wildlife Sanctuary
&@loay® Mol aues o

D:-Kottiyoor Wildlife Sanctuary
680513 aimElal aues o

Correct Answer:- Option-C

Questionl3:-How GST makes exports more competitive?
=lag Ml ag)eaReM@IETTY @:@g«sﬂ@@ SO  2OTVEIWlHmRoBMD®?

A:-By exempting exports from GST

da:@gm«sﬂe)@ Hlagymdl @led mlmee eglanssloanons

B:-By imposing lower rate of GST on exports
oeaq»ggm@ﬂ@ﬂ(o% B:0600 Hlagadl gjagomaliajes

C:-By imposing zero rate of GST on exports
SOOI ojmye edlagdl gogpamailgjes

D:-By applying GST on the basis of value of exports
oeaqvgm«sﬂ genomledo @eSIruNdMEB@d slagmyl

Correct Answer:- Option-C

Questionl4:-Identify the wrong statement/statements :
OMQOW (JMRIQUM/ (@JTRIAIM BB BBl giClaye,

A:-SATH-E is an educational project
SATH-E a@ alaypeipay alrualoosy

B:-RBI had ownership of shares in commercial bank/banks prior to 2007
2007 -a gl anemlesy sniossleal/ snio@eglonl 630a06leees 9SamNIni®:Iw. @RAMINGQMEIRIGBM

C:-GST is a solution for cascading effect
26TV Wlot) @I RafiMJl 8@ al@la00ER06TY

D:-Being a constitutionally mandated body, the recommendations of Finance
Commissions are binding on central government
BEEMARISMIIERIW] MIBNINWI®  MNIAIMAIR@IMIT, WMEIRY BHARHUOMO WaldBUDEUD
CB@MVBEHICIM EUOW Y QYENE’

Correct Answer:- Option-D

Questionl15:-Which of the following is/are rightly paired?
(i) Vth Five Year Plan - Removal of Poverty and Self Reliance
(ii) XIth Five year Plan - Inclusive Growth



(iii) Xllth Five Year Plan - Faster, Sustainable and More Inclusive Growth

@969 aloQMAIQIGE a@@6M VAIWIW cRIlBUB?

(i)  5-% al@OIENE aELE] - BIGIGIAY TVIUBWYe DBJODOBRS,

(i) 11-00 alemiENE aleL@] -  2UEEI8M IRy

(iii) 12-20 ariqioNE aleL] - caineadlw®o. mymudlenje &SO®d
@oaamog%m@m@ QI8M 4]

A:-Only (i) & (ii)
(i), (ii) oo@o

B:-Only (ii) and (iii)
(ii), (iii) 20@o

C:-Only (iii)
(iil) @0@o

D:-All of these
DQIOWE00

Correct Answer:- Option-D

Questionl6:-Find out the incorrect observation regarding the SDG Index 20-21 :
SDG ayalle 20-21 cuesniauily emgo@ midlesieme e :

A:-The composite score of Indian Economy has improved from 60 to 66
DB MUMIE QAIMNAQSS EBoeTUoMIg empod 60 @ mloy 66 @R

B:-Kerala, Himachal Pradesh and Tamil Nadu have scored above national score
BHEBQYo a0lM02IBY (@JEBe AILIFe GBUEIW EMYICINeg®ElBd ETYIQ OalQ

C:-UT of Ladakh failed to attain the national score
aiwossleal Qdl eaudlw emMPId MMM AlEIRWeIS

D:-Bihar and Jharkhand lag behind the national score
enlla00Qo @WIBEIEMUY GRUWSIW ETYIGIEMEOUB allarlalnem’

Correct Answer:- Option-C

Questionl7:-Bandhan Bank is a
FNIMNWOB 6NIOHS B33

A:-New Private Sector Bank
@@ TLIBIPICAEULID ENUOBS

B:-Non-Banking Financial Institution
GMOEND-6NI0ES1681R adlMOMAUL@ MLOJAIMo

C:-Payment Bank
Gl nI0Hy

D:-Small Finance Bank
GYoUd adlmnomay’ enioss’

Correct Answer:- Option-A

Questionl18:-The SDF operationalized by RBI on 8th April 2022 :
SDF 2022 ag)@d 8 o @rdenieng) @JQIdommeuanoss)|

A:-Introduced a new window of central bank lending



OMVMESE 6NI0B; AUQYWSS oI QllmBeawd @oAIM@la]l,)

B:-Replaced the Fixed Reverse Repo Rate as the floor of LAF
adlgow’ dleaig’ dleajo mless’ LAF emdo alaiwowi modl

C:-Contributes to a fund created for Sustainable development
myaudle alerumosimo] qyatla) 6@3 a0eElERIE TMUEIAIM 6.aIQaT

D:-Proposed increase in repo rate by 10 basis points in the next quarter to
check inflation
al6Me|Baje GSWIM BRSO BIABSA Gleajo Mleesewd 10 esnirdlmy aidalaflenomosy’ mldeguoo

Correct Answer:- Option-B

Questionl19:-In the Constitution of India, promotion of international peace and
security is included in the

EOMMYMB BEEMALISMEIM @RAMIGIY TVAIWIMQJe MYEBHUD@INJ GJoTNVIOlaflesmm il
2uBeqgOBIQIgene

A:-Fundamental duties
@RSITMVOIM HSABUB

B:-Ninth Schedule

63U 0 s)osmuéu%

C:-Preamble to the constitution
BEEMARISMWYES @YQP6Lo

D:-Directive principles of state policy
MVLNINIM MOOMIOMBO WIBEZURE MIEBRUB

Correct Answer:- Option-D

Question20:-Which of the following bills must be passed by each House of the
Indian Parliament separately, by special majority?

©®I69a|0QMADIEE aR@IEM AMM ~BAIHAMHMWO 306 TVRW. (JEDMH: (BOlAIBHUETNIOS (@G dho
Al0(YOCEDERDY ?

A:-Constitution amendment bill
REEMARISMI CRBW®) enilmd

B:-Money bill
a6 enil@d

C:-Ordinary bill

MLIWOE6eM 6nil@d

D:-Finance bill
WM SN

Correct Answer:- Option-A

Question21:-The resolution for removing the Vice President of India can be moved
in the
SO Dal@IYalGIO® MlEno amq%f(m@'lcrog@ @ea®o MERWIM @RAIMElaflEndo

A:-Either House of the Indian Parliament
MM alndelead@lemo eaovmilmd aarilod

B:-Lok Sabha alone



CRIDHHTVE AMI(Do

C:-Rajya Sabha alone
©IyMVE Ao

D:-Joint sitting of Parliament
al0BeAMOMO MBI TVCMSMo

Correct Answer:- Option-C

Question22:-Who appoints the Chairman of Union Public Service Commission?
QoMM alspflss Mudqllny’ eedlluemo e.adncem dlodlesmo @reosm?

A:-Vice President of India
MMM Dal@IYPald)

B:-Chief Justice of India
M aflad” iy’

C:-President of India
MM @mIlawd

D:-Speaker of Lok Sabha
GRIOBMUERD MUl @

Correct Answer:- Option-C

Question23:-All revenues received by the Union Government by way of taxes and
other receipts are credited to the
Wla@ldg0 e EM@B80 Yl EH@ VAWM RIEERM afgd AUGBBIMA WG OaIQealgMo

A:-Consolidated fund of India
DOMYYOS aBHIHD® 06N

B:-Deposits and advances fund of India
HAMIQYOS MIEBHaIQYo @RI aN6MBo

C:-Public account
£ald® GRE)EHD6ITE

D:-Contingency fund of India
DOMMQES @RQBMld an6eE

Correct Answer:- Option-A

Question24:-Indian first food museum has been inaugurated by the Union Minister
Shri Piyush Goyal in

HIMIWIOR! @RBOO B méﬁlﬂ@o eHBAD alQedd NIW® OELISMo B.aIQ

A:-Panjab
alerioeny’

B:-Tamil Nadu
@algos’

C:-Kerala
CHOS

D:-Gujarath
DOBOIOO)

Correct Answer:- Option-B

Question25:-Article 20 of the Indian Constitution provides for protection in respect



of conviction of offences includes :
(a) No person shall be convicted of any offence except for violation of a law in force
at the

time of commission of the Act charged as an offence
(b) No person shall be prosecuted and punished for the same offence more than
once
(c) No person shall be arrested or detained in custody without producing him
before the

nearest magistrate within a period of twenty -four hours of such arrest
(d) No person accused of any offence shall be compelled to be withess against
himself
MM cEEMARISQYeS @rdgleslud 20 , HQEERSES (BlEHQRIW] NIMWOS TVESHUEMo M@BL:TO.
Taomlemo &BatleHUd TVaWe BTG HQROW 4jaoT)
(a) emyom Menlo)ss 6w M@aLeaInOBIMEO® BT QIBOIQL B3

BHQOOIM00 UBlEUHESTE
(b) &eo e:qomim soies smileaioo masm OIS’ ©.2IQYBQo

WU EBHQYo @B,
() @Roqy msan @alowimog) aemlEacleasiad a3 EPSEDSs

aefleayglao Ao a0IBEILHIO® GG AUBTIOWQ GOOTY 62IQYEEWI

HIYWII@B QIQYHEWI 6 21Q@O).
(d) cgpeo@®lal ®:90 @RYEEINEeSM 8@ QETIlg. mMleedien

MBI MIBENIMUIE T

A:-(a), (b) and (d)
(a), (b), (d)
-(

B:-(a), (b), (c) and (d)
(a), (b), (c), (d)

C:-(b), (c) and (d)
(b), (c), (d)

D:-(a) and (d)

(a), (d)
Correct Answer:- Option-A

Question26:-The Speaker of Lok Sabha can resign from his office before the
completion of his tenure by writing resignation addressing to whom
E20BME) ML MOMO B:0rIWs0lol ACTLEBIM PMI EYE® @OEITVEENIOWM O.2IYPEB:6ME
02l O ag)g@i @m0 soadlmilmd mlim’ eoslaigoe?

A:-President
@mdlawady

B:-Chairman of Rajya Sabha

EIB\TLRI 6).21QAAIM

C:-Prime Minister
JWIMRED)

D:-Deputy Speaker of Lok Sabha
CRIOGHTVED awm,gg? Jlenad

Correct Answer:- Option-D
Question27:-Which of the following rights come within the domain of Article 21 of



the Indian Constitution?

(a) Right to Privacy

(b) Right to Shelter

(c) Right to Livelihood

(d) Right to claim compensation

MM BEEMARISHYES @RS 21-6030 adlWIIG QG @RAIGIWRERSIT a@G®osm?
(a) UIBOROESS @I

(b) andaflsovimess @oaIB0000

(C) oauklaimomsiliess @RAIB:0U0

(d) MaYaIBlano@e ©.21QQMPESS @OAUSIUDo

A:-(a), (b) and (c)
(a), (b), (c)

B:-(a) and (b)
(a), (b)

C:-(a), (c) and (d)
(a), (c), (d)

D:-(a), (b), (c) and (d)
(a), (b), (c), (d)

Correct Answer:- Option-D

Question28:-Among the following, one is not the Chairperson of the Kerala Women
Commission. Which one?
@96 0QYMABITS RIS EHES AUN®I HAFHUOHMO 6.21QABEISEND @R @RI @AIAR?

A:-Sugatha Kumari
MYV SR

B:-Justice D Sreedevi
mqUlay’ sl. @leaall

C:-Nafeesath Beevi
madloroomy enflall

D:-P. Satheedevi

all. rvolesall
Correct Answer:- Option-C

Question29:-Which of the following statement is/are correct about GST Council?
(i) Article 279 A related to the creation of GST Council
(ii) Union Finance Minister is the Chairman of GST Council
(iii) Chief Ministers are the members of GST Council
(iv) Chairperson, Central Board of Excise and Customs non permanent invitee of the
council
elagmydl ©&MBMIE MVeNITUWls] @068 OQM JMIOAIMGEITE ag@osm w@!?
(i)  =Hagmyl eBveMmIlcd @aledlesam@aod snmwen|s®mosn @radsleslsd 279 A
(ii) eflagdl ©®VeBIIRlOMO O21@BROMIENY BB WMEHIBY AT
(i) geur@rlaod sfagaydl &@eMmIlnndo @r.waERSaNY
(iv) a10@eagen, OTVMSH ENBW Boal aOOEGMY @RBA BN
eooemmilelleomo  amudle. suemlmoalgy

A:-(i), (ii) are correct



(1), (ii) Rloem

B:-(i), (ii), (iv) are correct
(i), (ii), (iv) vorlwoemy

C:-(i), (ii), (iii) are correct
(1), (ii), (iii) el

D:-All are correct
af)elde UBEIIEM

Correct Answer:- Option-A

Question30:-The Lifetime Achievement Award winner of the 27th edition of IFFK
IFFK 27-000 agauilatidilonl eeeiad 66S. @ allaioad @oainda’ esmoal

A:-Firas Khoury

2dloomy ©@:0e|

B:-Bela Tarr
emiel ™MId

C:-Tayfun Pirselimoglu
060®ad oJ'IdSe)cmeﬂe)m:xgg

D:-Mammootty
oS!

Correct Answer:- Option-B

Question31:-Among the following, which one is not correct?
®I6Pa|OQMAIRIG EWLPODT R ?

A:-Domestic Violence Act - 2005
0IBOI® afluomn mlwa. - 2005

B:-Demonitisation - 2016
wleaoslosgemuaum - 2016

C:-GST Council - 2015
elagmyl esoedailad - 2015

D:-First Bank Nationalization - 1969
a0y 6108 MIaHMEeeRIEMaHM - 1969

Correct Answer:- Option-C

Question32:-Among the following, what is/are the Constitutional bodies?
(i) Central Vigilance Commission

(i) Election Commission

(iii) National Human Rights Commission

(iv) Finance Commission

®I9LOQYMAURIB REEMALISMIMVNIAIMEBRUZ aBODIOEHWIET?

() eo@ aleflaiday eofleuad

(ii) OOEEETMG] &axlaud

(ill) eI aMEAUVAIGIUD EaTlaud

(iv) wmeoey oodflaumd



A:-(i), (ii) and (iv)

(i), (i), (iv)

B:-(i), (iii) and (iv)
(i), (iii), (iv)

C:-(ii) only
(ii) oo@o

D:-(ii) and (iv)
(ii), (iv)

Correct Answer:- Option-D

Question33:-Among the following, which are the two correct?

(i) India after Gandhi - Ram Chandra Guha

(ii) Turning Points - Droupadi Murmu

(iii) Development as Freedom - Amartya Sen

(iv) The Indian Constitution Cornerstone of a Nation - Dr. B.R. Ambedkar
@969 MMAIIG aB@IEM PEWIW 6N GEoWI?

(i) ey @RYRA - 0% 2lQ3 Yad

(ii) esemlovy canBMY - 6EDaIE g3y

(iil)  awarelieamd @RHIY @dlow. - GRAGMmPSHVM

(iv) enamymd C0MMILUM 650BMA@ EGIRIEN B9ad ag) EMaUM- GWI. @R.EIGES

A:-(i), (ii)
(i), (ii)

B:-(iii), (iv)
(iii), (iv)

C:-(i), (iii)

D:-(i), (iv)
(i), (iv)

Correct Answer:- Option-C

Question34:-Myocardial infarction is due to
DCWIGHIRWIQ@ EOABQNIBHM HHI6Mo

A:-Aneurysm
@ORYAIMVo

B:-Arteriosclerosis
@RSIEIEISMREOITVIMY’

C:-Atheromatous plaques
@R@EOIRIQMY %o@ém"

D:-Coronary thrombosis
£ IC06MAl @ 0GENIDMIIMY

Correct Answer:- Option-D
Question35:-Match List-l with List-II

List-I List-lI
(a) Phylloguinone (i) Scurvy
(b) Ergocalciferol (ii) Xerophthalmia

(c) Ascorbic acid (iii) Osteomalacial



(d) Retinol (iv) Hemorrhage
Choose the correct answer from the options given below :
allqy-1, elqy-ll Qoo eaomomen|geDs;

aflqy-I aflay-ll
(a) eancsIneM™ (i) apadaql
(b)  agdenomomdmilanenoud  (ii)  emuensagomdaiow
(c)  @rempodenies @il (iii)  soqdlewonseairuywd
(d) eodlemoud (iv) a0lemocoss

A:-(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

D:-(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)
(a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

Correct Answer:- Option-B

Question36:-Which of the following agent is/are cause STD?
(a) Treponema pallidum

(b) Bordetella pertussis

(c) Shigella dysenteriae

(d) Neisseria gonorrhoeae

Choose the correct answer from the options given below :
96 0QYMAURIB aB@I6Mag)laules B:06MAEM@?

(@) Sleajoeria atogflaws

(b) eonndauloge) OaidgMIIMY

() adlloune) aloaumoldie

(d) emoemcle ewmoeemadles

®IO® @M BalaHGEIG MMM VEIVIW OTCME. A EETTNSEBH

A:-(a) and (d) only
(@), (d) e0@o

B:-(a) and (c) only
(a), (c) mo®o

C:-(b) and (d) only
(b), (d) 20@-

D:-(b) and (c) only
(b), (€) oo

Correct Answer:- Option-A

Question37:-Monascus purpureus produce
6@EMOTYTY oJ(ﬁoJéOrIG))(T\)V 0@ aloGlaflenaro



A:-Clot buster

GfH0T ENITYA

B:-Pectinase
@mg{lcm(m“

C:-Stains
a%}g@'laacrﬁ

D:-Cyclosporin A

©6IMLEEIEMYITId A
Correct Answer:- Option-C

Question38:-Which of the following are true for Moon moving around Earth? Assume
that the system is isolated?
(i) Sum of kinetic energy and gravitational potential energy is negative and
gravitational
potential energy varies inversely as the distance of Moon from Earth
(ii) Conservation of areal velocity is a direct consequence of constancy of angular
momentum
(iii) Acceleration is inversely proportional to the distance between Moon and Earth
and is
directed towards Earth
(iv) Time rate of change of velocity of Moon is inversely related to the square of the
distance
of Moon from Earth and is in the direction along the tangent to the orbit of
Moon
2B @Gl sydlrvenidlenme ealojoQMARI® og@mosm tdl? MM BYEWS®IOMAT GRS,
(i)  Vole@IBERETOMOQ VBBINB:BAUM TVIWIOWSS ODVRLBOBIHAWOQo
@ROHIDE: EMNJIAL DTB@IOGBaUMAIET) HAIOFMauU®S afMAZ Galwilcd
Tl aIB@lealsmss oo aloerl Alladlmadr] alympaveasldlesmo
(i)  emomie @RYE. MdEOQeS BEMMEANRINNET BB eacRPMIdYeS
MUo(@BH6Mo
(iif)  @ieMo alE3M. @2lQ. oieiss GeEEDIM alladl® @oMATIG:00
Gololealss Mlesm@aemy’
(iv)  a@eno eanosieno agomlendo maemless @Al mlimss
2(@BeOMO GEEWIHMO QB allaIdlmadw] mimweqsleleammo sooY
2I@BOMO BAMAINOTIEAIMES SOBMWPOMO Gluowilaloemy

A:-(i) & (iii)
(i), (iii)
B:-(i) & (ii)
(i), (ii)
C:-(ii) & (iv)
(i), (iv)
D:-(ii) & (iii)
(i), (iii)
Correct Answer:- Option-B

Question39:-For a stone fired parallel to the ground from a height H with a velocity
u, which of the following are false?



(i) Horizontal component of velocity varies directly as time

(ii) Vertical component of velocity varies directly as the square of time

(iii) Horizontal component is directly proportional to the square of time

(iv) Vertical component is constant in time

H s@oomiad alon’ U saino@lcd aleiom’ cuasmmenc saslQaildom eafla, eodlooqanaieicd
RN ODOG?

(i) ecanoges dlevalmeaiss. TUR@OBIMMAVEl] EME!S AGPTIEASI

(i) eanomEes clemnirnisde MAVEDIOMO AUBREaIeR! EMNAIS ABPIVOISMD

(iii) oleualmeaise. Ma@OBIOMO AUBQYOBTIM MAEIS @RI Ba06m

(iv) eleneaise. Mmaomlad cudleadsny’

A:-Only (i) & (ii)
(i), (ii) oo@eo

B:-Only (i) & (iii)
(i), (iii) @o@o
C:-(i), (ii) & (iii)
(i), (ii), (iii)
D:-(i), (ii), (iii) & (iv)
Correct Answer:- Option-D

Question40:-A thin bi-convex lens of focal length f and radius of curvature R is cut
into two equal halves by the plane perpendicular to the principal axis. The two
halves are then joined with their curved surfaces touching each other to form a
system to receive a parallel beam of light. The system is

CanoEH@ eeln® 90 aw® R cocllomgss am emdom 666N CHIMONE HRINBMN (JWOIM
@OSHUOTIM 21o6NIZOW] @l HBIEME 6N @Al INEBSIW] JOlEBI. E6Ng RIWEEES. @OAUIQIOS QIS0
(@@AIBRU aleMV@e MAUEl] BT TVANNE (JEhIURB:EEM. MVllE:EleRM@IMss B@ MV.allwam.
DEMIEBMD. DD MeQIWIMo

A:-of focal length f that converges light
@HHOUEOO (MCWIlEBM EaNdLH S ealeno f

B:-of focal length 2f that diverges light

(@B0e O QlGabiaflesan enndsn@d eaes 2f

C:-of focal length f/2 that converge light
(@SIWOOD Mool flerm canden®d erleso f/2

D:-of infinite focal length to pass light without deviation
QUBI@IMoe BSIOD (@E0U0e BHSOIQNSIMB BRMIMARIW BaNILHDI FOo

Correct Answer:- Option-A

Question41:-Regarding ISRO, which of the following are correct?
(i) Gaganyaan programme is to undertake the demonstration of human spaceflight
to the

Low Earth Orbit
(ii) Chandrayan-I launched in 2008 was meant for the scientific investigation of
Moon by

Spacecraft
(iii) UNAATI is the initiative to offer training on the building of satellite to
international

participants
(iv) The mission accomplished on 26 November 2022 which has enhanced payloads



of ocean
colour monitor and sea surface temperature monitor is PSLV-C54/EQ0S-06
ISO 6@ auesnicnwlal @690 ]0QMAIRI@S ag@osm @!?
(i) ee0 agdowy sodenigelealmnss amauy MIaGlEB0UD VIS (@JBBUBM.
ABOQGERMMN@IET NNMWIM al@lalos]
(ii) 2008 - alledtialls) 2I@O@M - 1 NIaGlEIGHIM GalSdho OalC@IUIa]
2A@EOMER088 VINYWAIW GREMIHEMOTIM PEFUTlgSs@o6TY
(i) ERM™VEIY alEElBWB3Es DalWad MIBMEMOBIG alBludlaim. Mme:MGRes
mvoeocademy UNAATI
(iv) 63001y &83 em06mIaclemo MYEEIaIdlmaImIalTlel enoemlaclemoq.
OO SO Gal 6210B:WB 2022 malenid 26-a) oJdomleossle 68D

PSLV-C54/EOQS-06 @ryeny

A:-(i) and (ii) only
(i), (i) 20@o

B:-All the four (i), (ii), (iii) and (iv)
@&el@d aloeom mogge ((i), (i), (iii), (iv))

C:-(ii) and (iii) only
(ii), (iii) oo@eo

D:-(iii) and (iv) only
(iii), (iv) @o@eo

Correct Answer:- Option-B

Question42:-Which of the following statements are correct regarding the allotropic
forms of carbon?
(1) The bonding structure of Diamond is a three-dimensional structure while that of
graphite

is hexagonal
(2) Buckminsterfullerene is the C60 fullerene twelve hexagons and twenty
pentagons
(3) Thermodynamically, Diamond is less stable compared to graphite
(4) The crystal class of graphite is Dihexagonal pyramidal
S0denielemo. @REaIESIAls; (@GalBROS TVENIMW]4] MIOLAOQYMN JMYIAUMGSIT a@@moe W@!?
(1) cwwaeElemo ey’ ARISM B@ @MIMARISMIENT, WIOBANGlERTY

AU B G @I@I6M
(2) eniestlByBagssdlBd agaN@ alQoene OaDG BN o 20 OaIBUODSo

oss C60 agssclmoeny’
(3) ®ondclenrl WIOBANGIOHM @REAIBH 5] QIGOEBIM rudle@ B:00I06m’
(4) WIeBNdlEMO GTRB ROMY EOWENGUIEM@ alledlow®d @R

A:-Both (1) and (2)
(1) 20 (2) oo

B:-Both (3) and (4)
(3) 20 (4) 2



C:-Both (2) and (3)
(2) 2 (2) o

D:-Both (1) and (3)
(1) 20 (3) oo

Correct Answer:- Option-D

Question43:-The sequence of reactivity among interhalogen compounds is
EOMBaOGRINTMB MVQBMEBRUE Male)Ss (@lJAUBTMMOMIOMO a0

A:-CIF: < BrFs < IFx < BrF:
CIFs < BrFs < IFr < BrFs

B:-CIF: < IFF < BrF: < BrFs
CIFs < IFF < BrF: < BrF:

C:-BrFs < IFr < BrF: < CIF:
BrFs < IFF < BrFs < CIFs

D:-BrF: < CIF: < IFr < BrFs
BrF: < CIFs < IFF < BrFs

Correct Answer:- Option-A

Question44:-Among the oxoacids of chlorine, perhalic acid of chlorine is the
strongest acid. This may be due to

(i) It has a weak conjugate base

(ii) The charge stabilization is maximum in its conjugate base

(iii) It has the strong conjugate base

(iv) Its conjugate base has stronger attraction for hydrogen ion
BR0lIOMO BIEZHIBRYMIWHEIBE alGandalls @RHAIALET RO LRBMAOW
@RVl O@IM &HIE6Mo

(i) oy gReNIRIAI® @RSIEmOWENE

(ii) admed oqyeiosiEmMAHB @ROIOMO MeWIEH® @RSIEMOVI® alERoAIW] @Ry
(iii) @y LeB@IW MV.cWO® @RSIEOWENE

(iv) @polemo qu.cwimHle @RSITmOY 660EWRM @REOETIM SR

@R HEMAEITE.

A:-Both (ii) and (iii)
(i) oo (iii) &0

B:-Both (i) and (ii)
(i) oo (ii) oo

C:-Both (iii) and (iv)



(iii) oo (iv) oo
D:-Both (ii) and (iv)
(ii) 2o (iv) o

Correct Answer:- Option-B

Question45:-Which of the following statements are associated with 2021 Nobel
prize in Chemistry?

(i) Itis for the development of asymmetric organocatalysis

(ii) It is awarded to Benjamin List and David W.C. MacMillan

(iii) It is for the development of a method for genome editing

(iv) It is awarded to Emmanuelle Charpentier and Jennifer A Doudna

2021 e21 0o @omlss ¢mosnicd TuanImMay20@ll sRIMLOA]S @JTRIAUMEUB GIBLa|OQMAII®3
a@®o6m’?

(i) o @rmileasls sodwmoemasogieaaimilny’ ale:alaflesmaimosm

(i) e sniermuallad ellqylave  cawallaw’ wenly. Ul @0glaIMEe TLERIMlg)

(iii) eflemoe agauldlsadinss e Ao alleadlajesmaimos ooy

(iv) eoomomaIm #0860l 6BMa0Ad af) HADAWMP. O MUEROMy)

A:-(i) and (iv)
(i), (iv)

B:-(i) and (ii)
(i), (i)

C:-(iii) and (iv)
(iii), (iv)
D:-(ii) and (iii)
(i), (iii)
Correct Answer:- Option-B

Question46:-Ormakurippu is the book written by,
B0 EBTla] af)M oJTVHOBTIOABO ©al0il®oal

A:-Anand

@RM3
B:-Uroob
oQen!

C:-Muhammed Basheer
Qa0m3 niafld

D:-Kakkanadan

SHILLMISD
Correct Answer:- Option-C

Question47:-Kerala's Folklore Academy is situated at,
CHESOMIOR] GaNdd: GRIDA @REHIGA mﬂ@']amgm@“

A:-Aranattukara
(GTO(DCT)O%&@(O

B:-Nalanda
M8

C:-Chirakkal



aflo@md

D:-Chembukkavu
621Nl

Correct Answer:- Option-C

Question48:-'"There is just one castle and it is called humanity" - Who propagated
this ideology?

"em eo5ew 088 GPGlOMm BOMAl&® ag)am allglesm"’’ 0D @YW @)al@la]lal® @REoET?

A:-Narayana Guru
MIOIWEMPD @3

B:-Ayyappan
@PQa]0d

C:-Chattambi Swamikal
algmil arvioaileud

D:-Dr. Ayyathan
GOWI. @RQYOMIMD

Correct Answer:- Option-A

Question49:-How many total players are there in Kho-Kho?
Kho-Kho @@ @rmed «f@ eslenomens?

A:-12
12

B:-8
8

C:-7
7

D:-10
10

Correct Answer:- Option-A

Question50:-Who among these was the only athlete that represented India at the
2022 Beijing Winter Olympics?
2022 -eei snlledlovy aglmiglmd same@ amHlwle:dla) a@ $0Qle:mooe @RoIem?

A:-Arif Khan
@R)©@la0e0M

B:-Neha Ahuja
GMad @YanR

C:-Kishore Ratna
BB PN

D:-Shailaja Kumar
ORULIR HMID

Correct Answer:- Option-A

Question51:-Which of the following is equivalent to swo;
®I6Ca|0QMAIDI@3 5120 M DN aR©?



A:-5504 550

550+550

B :-550x550

550550

Ci-599451

599+51

D:-520y55

52055

Correct Answer:- Option-B

Question52:-Amal scored 60% in an examination and Tinu scored 66%. The
difference of their score is 12. How much score did Tinu get?
8@ aldlerl®d @eamd 60% op slm 66% emsl. @rames eTYIFlemo AmPAV. 12. agelad Slaeallay

af)©@ GTYId QI@']L%?

A:-132
132

B:-120
120

C:-200
200

D:-188
Correct Answer:- Option-A

Question53:-A 280 m long train travels at a speed of 60 km/hr. How long will it take
to pass a platform of 270 m?

280 digd ispss 8m eswlmd asmigdlad 60 sleandod canowlad musmidesm. 270 diod disgss
BG 006N HSMOEAIIBHIM af)® MLOWEDSERo?

A:-30 sec.
30 .

B:-33 sec.
33 .

C:-16.2 sec.
16.2 ecv.

D:-None of these
@O.IG)@O(TT@%;

Correct Answer:- Option-B

Question54:-Which among the following is the smallest fraction?
®IOLOMAVI® oBQQYe O2I0l® ElMAVEY nBD ?

A:-2



[E0S]

oolue

I~

Correct Answer:- Option-D

Question55:-Three numbers are in the ratio 3 : 5 : 7 and their average is 65. Find
the smallest number?

Qo Moy 3 1 5 1 7 agam @omalm@we06m. @oaIQes woowdl 65. aBlm afQaje aClw
o6y BEMallSlens

A:-26
26
B:-13
13
C:-39
39
D:-None of these
@O.I@@O(TT@Q%;

Correct Answer:- Option-C

Question56:-What day will be 61 days after today, if today is Monday?
o oleso9wiesmeslod 61 damoslay etente ag@ Alaumuao@lese. ?

A:-Tuesday

6.210Q)0¢

B:-Thursday

QIOPOQ

C:-Friday

esslwog

D:-Saturday

MY
Correct Answer:- Option-D

Question57:-1

2, 3

4, 5, 6

7, 8, 9, 10

If the pattern is continuing like this, what is the sum of the last numbers in the 20th
and 21st row?

al0GREM DDEAINERI DSTHWIEMEICI 20-m00 21-00 cu@ller! @aICrVOMm MUEUBHBOS BRYEBOD S
af) @@oem?



A:-576
576

B:-625
625

C:-441
441

D:-400
400

Correct Answer:- Option-C

Question58:-Find the angle between the two hands of clock at 7:20
7:20-0 ego8510M0 R6MNE ©6E(BESISOIRISs 6806 B:engalslesd

A:-60°
60°

B:-72°
72°

C:-90°
90°

D:-100°
100°

Correct Answer:- Option-D

Question59:-If 26 = 4,84 =6, 73 = 5, then 75 =
26=4,84=6,73 =5 enowo 75 =

A:-6
6

B:-9
9

C:-5
5

D:-4
4

Correct Answer:- Option-A

Question60:-In a queue of students, Ramesh's position is 11th from the front and
17th from the back. How many students are there in the queue?

allepdodeges aElolcd eeaciemo munome galed alar’ 11-200@0 allml@d mlany 17-on@aoer.
)@ UGS ag)©@ alapAmdleud eene?

A:-26
26

B:-27
27



C:-28
28

D:-29
29

Correct Answer:- Option-B
Question61:-Those are new designs. They differ -------------- the rest.
A:-with
B:-for
C:-to
D:-from
Correct Answer:- Option-D

Question62:-1 heard my neighbour -------------——--- _
Choose the correct infinitive

A:-Singing
B:-Sing
C:-Sang
D:-Song
Correct Answer:- Option-B
Question63:-How would you respond if they ------------------- you the winner?
A:-announced
B:-announces
C:-announce
D:-doesn't announce
Correct Answer:- Option-A
Question64:-The doctor, with his nurse, -------------- attended the patients.
A:-has
B:-was
C:-will
D:-have
Correct Answer:- Option-A

Question65:-The writer says, "My never failing friends are they'. Report the
statement.

A:-The writer said that his friends were never failing
B:-The Writer says that his friends never fail

C:-The Writer says that his never failed friends were they
D:-The Writer says that they are his never failing friends

Correct Answer:- Option-D



Question66:-The opposite of very rich
A:-prosperous
B:-affluent
C:-destitute
D:-well-endowed
Correct Answer:- Option-C
Question67:-Sometimes, | --------------- to my life in the village.
A:-think back
B:-come in
C:-go out
D:-hold on
Correct Answer:- Option-A
Question68:-Aunt Polly always keeps a good table. It means Aunt Polly -------------
A:-keeps the table neat and clean
B:-provides luxurious food
C:-sets the tableware well and good
D:-decorates the table well
Correct Answer:- Option-B
Question69:-They have planned to --------------- a wall
A:-rise
B:-race
C:-rays
D:-raise
Correct Answer:- Option-D

Question70:-Change the word 'create' into a noun by selecting the appropriate
suffix from the given

A:-—ion
B:-—ve
C:-—able
D:-—ed

Correct Answer:- Option-A
Question71:-06¢ 66:050m QARG WAIWIW BaICam?
A:-@ogaflso
B:-woguaileoe
C:-wogsflemo
D:-wogsflee



Correct Answer:- Option-C
Question72:-m06¢ 68:050m@IG QIOG:EMIE20W] HMQIQ QIO aBDIET?
A-m3I 6@IFRQ B@PIMe GRELAI:M CRHOERIBCOOOQYSSAUEIET
B:-0@0gpQ te@20me @RELYAIB:M ERHOERIBENOQSBAIEIET
C:-mydlay e)@osr‘rgo” @RELYIAID:@Bo @RYORIBANQYSBUMIEIT
D:-mQuemacmoe @RELYAIGTE. @R)YTRIBNOQSSQURIETY
Correct Answer:- Option-A
Question73:-©06¢ 6®:I5om AUIEEHE® ABMOTIOMO alRPWALLOND® aR® !
A:-ooi0e
B:-moceiwo
C:-vamwmoee
D:-aywoow
Correct Answer:- Option-D
Question74:-@rwlse TMUMIIEIERMM @YU ag)m @RAMN. SIS QO RO ?
A:-aou
B:-q0.a0e103
C:-g@eoad
D:-ryegi@oasd
Correct Answer:- Option-B
Question75:-@rwmomme agm aneslemo aleal®aite ag@?
A:-@rywmiso
B:-cruadoeisse
C:-ayeommo
D:-osomeowyme.
Correct Answer:- Option-C
Question76:-moe¢ 66050 QE:EREIT 1eIIBeewRles aRQOe Wy AE:EA®?
A:-agglo quoeigme 6@9S] GmIEEMEBRUY aldslgl
B:-eoaem 6@ alomy &Slg)
C:-@paiges selemeud allsana) 6mom s6r
D:-aiomsoeimesscd 6306©0 alleydodleg. worUleseme@osm
Correct Answer:- Option-A
Question77:-a108], j0eajg e QSRS 6aBEOMETWIT WAIGal ARG ?
A:- a108l0Joeradg
B:-a108] ajooayg
C:-_fuosﬂqdoand%



D:-(1)-90 (2)-90 (3)-90 vo@loem
Correct Answer:- Option-C
Question78:-mamio agm e all@le 5/g@l@ond
A:-oo + ol
B:-od + ol
C:-o + oo,
D:-o® + alo
Correct Answer:- Option-A
Question79:-0e9 ©B:050™m QAGEBREIEE EIWIW ADGIED®?
A:-gaua@@ol@dmimes 9aln0o@ Tulle@lg)
B:-gaup@olad mlcee ©alad0®@o aollenaly
C:-goup@llod o ©ala0d@o molle@lgy
D:-gaua@@ol@@lan ©ala00@o (T\).'ﬂ@a(b']_r%
Correct Answer:- Option-D
Question80:-me9 68050 QARG JEBBHOBL0 HIEMIEDITOD® af®?
A:-crondlod
B:-anogdlod
C:-aowyad
D:-@rwyalisnad
Correct Answer:- Option-D

Question81:-Random access memories in which data words are permanently
written during fabrication are known as

aNIENJlEEH UMD TLAQIOT AWIQD alB6ERUd MUAlEAIW afE®OAIFIM 0IMBWe @RAGRMY EBEACIE:U3
------------ af)M’ @RI |G

A:-RAM
RAM

B:-ROM
ROM

C:-Serial access memory
lEI@ @RIV A

D:-None of these
@O.I@@O(TTGQ%;

Correct Answer:- Option-B

Question82:-Which among the following is not an input device?
69 MA@ @6’ Bals Wleenimy’ @reOm®?

A:-Joystick

GOl

B:-Scanner



aamad
C:-Plotter
GqJosAd
D:-Mouse
QMM

Correct Answer:- Option-C

Question83:-Choose the statement that describes super computers
mRald SMUSQBOS QllaIBlEBmm @ITPIAUM HDEEETFER D

A:-Has the highest processing speed at a given time for solving scientific and
engineering problems
T @ladlss’ ageralml@dlt’ @RS al@lan@lEamM@IM 6@ dluale TMaEB aGQje OB
(@OMUMIle() BN QENE

B:-They are designed to maximize numbers of floating point operations per
second
OTVH WD 6aQogloty G (JAUBEMMEBESS ag)sfRo alERIAUWIOLBM M @Gald@3am
6 21Qfl@lERmM @

C:-Its processing speed lies in range 400-10000MFLOPS
p@lemdo sejorumdlsas eanm 400-10000MFLOPS adluiioiansm

D:-All of these

DAOWEY00
Correct Answer:- Option-D

Question84:-Identify the service of an operating system
8@ 69aJe0glsss MUlEMIEMmMO GruAIMe @I@lgClQs:

A:-Information management
DMBaNGCRHUM BICMEHAMO

B:-Process management
6JOTVMY RIECMEWHAMO

C:-Memory management
62020 MOEMBWHAMO

D:-All of these
0QIOWE00

Correct Answer:- Option-D

Question85:-What is true about EBCDIC code?
agamasm EBCDIC es00u57?

A:-It is a 7-bit alphanumeric code
oo 7-6enilg @T@@ﬁaﬂom‘é(ﬂﬁ; CHo

B:-It is an 8-bit alphanumeric code
@ 8-6nilg @ROOA0IMYACIES EHIY

C:-lt is a 16-bit alphanumeric code
@ 16-enfly @D EA0OMACIE LU

D:-None of these
@QIG)@O(TTO@%;



Correct Answer:- Option-B

Question86:-Which function key is used to open the help window in MS word
document?
MS Word BWIBIPABE  Ha0@a] AllMBEawd DOEBIM GO alosERaUM Bslwosm DalEWIUIEBMN@® 7

A:-F1
F1

B:-F2
F2

C:-F11

D:-F12
F12

Correct Answer:- Option-A

Question87:-Gutter Margin in MS word is
MS Word -@ :15@ 203=m agomay

A:-Margin added to the outside of the page when printing
@0.4JSIEBEMIIUB CalEIOMO OO RIRHIM ¢ 3D

B:-Margin added to the binding side of page when printing
@N.9JSIEBECMIIUE GalHleMBO ©6NIBAWIEE QAUURETMEE BOAHIM C.aldTDm

C:-Margin added to right margin when printing
@l e.a1Qemoud arim c0WeOmE 2odlM Caldam

D:-Margin added to the left margin when printing
Y ©.21Qemud s’ GUVETE ORI ¢aldoD

Correct Answer:- Option-B

Question88:-Which among the following is not a function in MS Excel?
MS Excel -@3 @udonileome ®eeajoQmaciled agomosn?

A:-AVG
AVG

B:-MIN
MIN

C:-MAX
MAX

D:-SUM
SUM

Correct Answer:- Option-A
Question89:-In which tab of MS Excel "Print Titles" option is available?

vl

MS-Excel-emo ag@ sosnileiosm " @l eesdladay’’ salaumd eieymosm?

A:-Insert
enadeMAS’

B:-Page layout

Gl RIS

C:-View



ay
D:-Home
BGaNJo

Correct Answer:- Option-B

Question90:-Which among the following is not a type of view in MS-Power Point?
MS-Power Point-@ e @®o Qly @RRIODEY aR®?

A:-Slide sorter
OO’ 6rOA3A

B:-Notes page
GMISY Galed’

C:-Slide master
@@a}gcw" moq}gtﬁ

D:-None of these
EDQIOWITPRL]

Correct Answer:- Option-D

Question91:-Select the Object Oriented Programming feature referred to as an "is-
a'"' relationship
"is-a"" agme alglesmm eamie 800l e@oWIdlet) adlaid O®EEETINGERS,

A:-Polymorphism

Galosilemo@adlmoe

B:-Data Abstraction
QWIQ2 @Taaﬁagoqema%

C:-Inheritance
Rslefalfelellelelegby

D:-Dynamic Binding

£60WMdle eeeNIMaUleUy
Correct Answer:- Option-C

Question92:-Identify the valid statement in C++ to declare an array which stores
10 integers
10 oydBegpavesuyd:ud mueeElesm 8w array qeupalenom C++ aqvowanw @apoaim dldlgclge

A:-int array[10];
int array[10];

B:-int array(10);
int array(10);

C:-int array();
int array();

D:-int array[];
int arrayl[];



Correct Answer:- Option-A

Question93:-What is true about events in VB.NET?
VB.NET-eei @mc@gﬁ@gmo’]_ﬁ RO @17

A:-Events are triggered through user interaction
DalWIBM) DSealsellejeswosm’ @m(ﬂ%oeoua slind 6.21QMOY

B:-Events are triggered by an object
B33 cmgo.loem” @ngde;u% slind @amy(m«»”

C:-Events are triggered by the operating system
@mc?%cegua @QIBEMBHARIERTND 630|E0Glowd TUlR@o6T’

D:-All of these

DAIOWEY00
Correct Answer:- Option-D

Question94:-Which among the following is not a data type in VB.NET?
moegajomaiiad VB.NET - @ cwogo eesa] @oepoma agamosm?

A:-Char
Char

B:-Date
Date

C:-Int
Int

D:-String
String
Correct Answer:- Option-C

Question95:-What is used to link two tables of database?
WogaEIMIlOO ©6Mg esemnigs:ud allss 61 PalcIUllasmM®)

A:-Foreign key
€a0o0Im &

B:-Primary key
060l &l

C:-Candidate key

SoBaleang’ |
D:-Super key
Q@ ol
Correct Answer:- Option-A

Question96:-Which among the following is not a DML command in SQL?
969 j0QMAI® ag@oem SQL-ad DML s:a001 @gjooma?

A:-CREATE
CREATE

B:-SELECT
SELECT



C:-DELETE
DELETE

D:-UPDATE
UPDATE

Correct Answer:- Option-A

Question97:-Which among the following is not an aggregate function in SQL?
969 oMUV ag@6m SQL-@ @RWENYG aNetIaUM @REJOOm® !

A:-SUM
SUM

B:-MIN
MIN

C:-PDT
PDT

D:-MAX
MAX

Correct Answer:- Option-C

Question98:-Identify web browser among the following :
©®I69aj0QMADIE3 HAIENT BENIDIVAE @@l 4IClQd:

A:-Google form
BUIU3 Gando

B:-Microsoft edge
6ODEGICTVI0G aflouwed

C:-DuckDuckGo

QUED W BUNI

D:-Internet Archive
OMBeMY @RABOSEHON

Correct Answer:- Option-B

Question99:-Select the HTML code to include hyperlink to the page
"'www.google.com"
"www.google.com" agan eaizdleniss’ ©6a0ajdellEs 9udeajgomom HTML esony omoesomgass

A:-<a type="https://www.google.com'>Google</a>
B:-None of these

C:-<a src="https://www.google.com''>Google</a>
D:-<a href="https://www.google.com''>Google</a>
Correct Answer:- Option-D

Question100:-Which method in javascript opens a dialog window in which it
displays its string parameter, along with two buttons, OK and Cancel?

OK, Cancel oserhlo oong snisenoaesogasie mylewy aloeodlod @eAwlaflesmm e wwealouy
alldeaws @osmom Javascript-ad palcouilesmmo

A:-prompt



prompt

B:-input
input

C:-confirm
confirm

D:-none of these
DQIOWE00

Correct Answer:- Option-C



